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IHelp 2Undo

Choose 'Select’ to select objects then 'Delete’ to delete all selected.

F2=* 5=N C=8 ¥U=5 |E@milG= |1 C X=0.00000 Y=-9817.5 £=22938.2




ALGOR-B

TRESS 4
Type #g; H

*Yield hi.
Comp hi.

[Esc] Ry e -~- 5}'/\

1He lpZUndo N\ ’f‘_
3Inp 4Snap i
SCur BSutc ]
7Big BMenu
9Top HDrauw

Type =P»A , Largest = -64.5, atress > 68 hilited

Click on (displaced) beam to get stress at that beanm.

BEANM #5 P-A= -64.5833 M2-/5Z=--H.438653 HM3I-33=-18.6415 Worst=-75.5754
BEAM 3.82 File: jjj3 18-11-87 16:38 IC 1/ 1 Uu=U? Lo= 81 La= 21 R= -14



ALGOR 8

IHelp 2Undo
3lnp 45nap
aCur BSwic
7Big 8Menu
9Top ODrow

F2=* 5=N C=8 ¥U='5 [Eami| = |1LC X=0.00000 Y=-18450. £=39540.2



= ALGOR-B
STRESS

=Yie i L : . / Py Sy
Conp i LT T ./f'.\*.;;\
[Esc] 4y p‘,

3Inp 4Snap
S5Cur 63uwic
7?Big 8Menu
9Top BDraw

1He lpZlndo ‘

Type =P»fA , Largest = -67.39, Stress > 67 hilited

Click on (displaced) beam to get stress at that beam.

BEAM #9 PsA= -67.3919 M2-32=-8.157681 M3-33=-9.7573 Worst=-77.3869
BEAM 3.B2 File:qjj3 18-81-31 14:12 LC 1- 1 Uu=U? Lo= 81 La= Z£1 R= -14



ALGOR+D

IHelp 2Undo
Jlnp 45nap

1 C X=0.00000 Y=6303.38 £=-2961.0



ALGOR-B
TRESS

Type

*Yield hi.
Comp hi.
[E=sc]

1HelpZlndo
JInp 45nap
oCur b65wtc
7Big BMenu
9Top BDraw

Type =P»A , Largest = -67.93, Stress > b7 hilited

Click on (displaced) beam to get siress at that bheam.

BEAM #8 PrA= -67.9387 M2-/52=-8.12957 M3-53=-7.14445 Uorst=-75.2848
BEAM 3.8Z2 File:q j3g 18-81-31 16:35 IC 1- 1 Uu=U? Lo= 81 La= 21 R= -14
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